

The Truly Marvelous Proof for n=4

Leszek W Gula

Lublin, Poland

*Corresponding author: Leszek W Guła, Lublin, Poland. E-Mail: yethi@wp.pl

Citation: Guła LW (2017) The Truly Marvelous Proof for n=4. Educ Res Appl 2017: J122.

Received Date: 02 June, 2017; Accepted Date: 08 June, 2017; Published Date: 15 June, 2017

Abstract: The truly marvelous proof of the Fermat's Last Theorem for n = 4. MSC: Primary: 11D41; Secondary:

Keywords: Diophantine Equations; Diophantine Inequalities; Fermat Equation; Greatest Common Divisor; Newton Binomial Formula.

Therefore - For some relatively prime $e, c \in \{1, 3, 5, \dots\}$ such that $e > c$:

$$4(ec)^4 = (C^2 + A^2)(C + A) \Rightarrow (C^2 + A^2 = 2e^4 \wedge C + A = 2c^4) \Rightarrow$$

$$\begin{aligned} (C = x + y \wedge A = x - y \wedge C + A = 2x = 2c^4 \wedge x = c^4 \wedge x^2 + y^2 = e^4 \wedge x = c^4 \\ = u^2 - v^2 \wedge y = 2uv \wedge e^2 = u^2 + v^2 \wedge e = p^2 + q^2 \wedge u = p^2 - q^2 \wedge v \\ = 2pq) \\ \Rightarrow \{x^2 = [(p^2 - q^2)^2 - (2pq)^2]^2 = c^8 \equiv 0 \wedge y^2 \\ = 4(p^2 - q^2)^2(2pq)^2 \wedge e^4(p^2 + q^2)^4 \wedge [(p^2 - q^2)^2 - (2pq)^2]^2 \\ + 4(p^2 - q^2)^2(2pq)^2 = (p^2 + q^2)^4 \equiv 1\}. \end{aligned}$$

Introduction

The Fermat's Last Theorem is the famous theorem. Here we have the truly marvelous proof for n = 4

I. THE TRULY MARVELOUS PROOF OF THE FERMAT'S LAST THEOREM FOR n = 4

Theorem 1(FLT for n = 4). The equation

$$A^4 + B^4 = C^4$$

has no primitive solutions $[A, B, C]$ in $\{1, 2, 3, \dots\}$.

Proof. Suppose that the equation $A^4 + B^4 = C^4$ has primitive solutions $[A, B, C]$ in $\{1, 2, 3, \dots\}$. [1][2]

Then A, B and C are co-prime. Without loss for this proof we can assume that A is odd. Then B is even and C is odd, which is obviously.

For some $C, A \in \{1, 3, 5, \dots\}$ and for some $B \in \{4, 6, 8, \dots\}$:

$$(C - A + A)^4 - A^4 = B^4 \Rightarrow (C - A)^3 + 4(C - A)^2A + 6(C - A)A^2 + 4A^3 = \frac{B^4}{C - A}.$$

Notice that

$$(C - A)^3 + 4(C - A)^2A + 6(C - A)A^2 + 4A^3 = \frac{C^4 - A^4}{C - A} = \frac{(C^2 + A^2)(C + A)(C - A)}{C - A}.$$

Hence - For some $k \in \{1, 2, 3, \dots\}$ and for some $e, c, d \in \{1, 3, 5, \dots\}$ such that e, c and d are co-prime:

$$\frac{(2^kecd)^4}{C - A} = \frac{(2^kecd)^4}{2^{4k-2}d^4} = 4(ec)^4 = \frac{B^4}{C - A}.$$

$$\text{where } (p^2 - q^2)^2 - (2pq)^2 > 4(p^2 - q^2)pq.$$

The above last sentence is false inasmuch as on the strength of the Gula's Theorem [1] we have

$$(2pq)^2 = (p^2 - q^2)^2 - (c^2)^2 \Rightarrow p^2 - q^2 = \frac{(2pq)^2 + (2q^2)^2}{2(2q^2)} = p^2 + q^2 \equiv 0.$$

This is the proof.

References

1. Gula LW (2016) Disproof the Birch and Swinnerton-Dyer Conjecture. American Journal of Educational Research 4: 504-506.
2. Gula LW (2016) Several Treasures of the Queen of Mathematics. International Journal of Emerging Technology and Advanced Engineering 6: 48-59.